Table S2. Change in body weight, BMI, blood pressures, and pulse rate (full

analysis set)
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Parameter Group n mean = SD n mean = SD ) " )
+ + p value mean * SD p value
Body weight (kg) Placebo 60 60.8 = 11.7 60 61.1 * 11.6 0.002 60 61.0 + 11.6 0.100
LJ88 60 604 + 115 60 60.5 + 11.3 0.933 59 60.3 + 11.3 0.580
BMI Placebo 60 223 = 3.2 60 224 * 3.1 0.001 60 224 * 31 0.063
LJ88 60 222 + 3.2 60 222 +# 32 0.922 59 221 + 32 0515
Systolic blood pressure (mmHg) Placebo 60 1254 * 15.8 60 122.3 * 143 0.067 60 125.7 + 14.6 0.984
LJ88 60 120.0 + 145 60 1189 * 13.0 0.610 59 122.0 + 14.0 0.234
Diastolic blood pressure (mmHg) Placebo 60 79.9 = 125 60 76.0 + 13.1 0.000 60 80.6 * 128 0.706
LJ88 60 767 + 11.2 60 732 + 9.6 0.002 59 76.7 + 9.3 0.999
Pulse rate (bpm) Placebo 60 753 = 95 60 742 * 9.6 0.555 60 76.2 + 9.0 0.650
LJ88 60 76.2 + 11.2 60 743 * 101 0.218 59 77.0 + 122 0.690

YDunnet test (vs. OW).



